H & 0l & AHS B Ml A

2023 204 AL NAXAALM SESIH &A
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R [EPNE<Eh
Ha: ATRYN XN

Tl NIARSN (ANISLE NSKIUAILN SHIH) (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol X1 & 24 12,612,000 9,822,000 2,790,000
XSS XS 12,612,000 9,822,000 2,790,000
NNAF ML (AL NANRAILEN SE3IH) 2,864,731 1,643,520 1,221,211
NS SN 2,261,638 1,544,950 716,688
301 EetE NS 200,000 0 200,000
04 Zet=2stis 200,000 0 200,000
OSF= Uetd FStAIE(=X)
200,000,000 200,000
401 AlEHIZL SO 2,049,038 1,544,950 504,088
01 Al&H| 2,041,658 1,537,718 503,940
OSHoligt 2HE=2 22 AESA 522,300
O£l 500,000,000& 4. 46% 22,300
OB AHI 500,000,000& 500,000
ONY 2SXD FXHE U2 SEIA 145,000
O3 A 20,000,000 20,000
O 4| 125,000,000 125,000
OZdu ANE= 222 SAt 449,178
O£ 430,000,000 *4.46% 19,178
O3 A 430,000,000 430,000
Oofl el == QrMaIA WHISA 51,000
O3 A 51,000,000& 51,000
OZNSE =X ZEAY 250,000
O3 A 250,000,000 250,000
OgIAFHIY ANdE T2 € 25
SaSA 624,180
O£l 600,000,000& *4.03% 24,180
OB AHI 600,000,000& 600,000
03 Al 20HHI 7,380 7,232 148
OSHoligt 2HE =2 22 HAESA 3,600
OAIZ =2 THHI ,000,000&%0.72% 3,600
OgHAFTHIY ANdE FA2 € 25
2+3AM 3,780
OAl2 = UHb| 600,000,000& *0.63% 3,780
402 2I2FX=201H 12,600 0 12,600
01 IR ESASE X (XHMITHR) 12,600 0 12,600
O=tt2 A8 M2MED B8
12,600,000 12,600
2N 115,593 98,570 17,023
101 @124H| 16,561 15,874 687
MU IIRIMZZENSES 16,561 15,874 687
O2dXNH € Fetska E8REx 16,561
oJlzs 76,9602 x1H %1282 9,851
Oxrd=+d 76,9603 1 562 4,310
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Chel: NADENL (ARALT XATRALN SE3IH) (crel:ze)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ou sl 5,000& x1& 1282 640
o=l 5,000 x1&*128& 640
OEse 720
o BHS X 40,0002 x1H+62 240
. EHIE 80,0002 x1H 62 480
Og&E=Itd| 400,000 x1E*12] 400
201 eer23y| 75,782 59,446 16,336
01 AtR2te|HI 46,881 43,841 3,040
Odgt+=H| 8,740
OAREE 7Y 2,540,000 2,540
OnxEz S8z 100,000& «12& 1,200
OXEd dNYE ALY Ol8=2
5,000,000& 5,000
o=g=g 2,000
OAL MM EIIR BB HA=E
100,000 x10E <22] 2,000
oY= 36,141
O XA & E =0l Xte
950,000 «1CH*12& 11,400
OETX2ANE HEE SAH|
250,000 «1CH* 122 3,000
O XA DI
51,5202« 1CH =122 619
O XA SIIFEEII
46,7203 =20+ 123 1,122
OZEANE SE2E I
500, 0002 = 1CH*40 20,000
02 35244l 28,901 15,605 13,29
OJTAM XA 2D I
15,000,000& 15,000
OXtgrs el 605
OHZHI(+=2) 605,000& 605
O3Xs HMEE M Al” 2| 13,296
Oodas 28 MIes
908,000& 122 10,8%
oxZE 28 SARe3
200,000 x 12 2,400
202 04| 18,000 18,000
01 =LHOHI 18,000 18,000
O2LH0iH| 8,000,000 8,000
o220l 10,000,000 10,000
301 EtE NS 5,250 5,250
11 dALEBIXNIE S 5,250 5,250
O=F22 FXHN YA
5,250,000& 5,250
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402 QI”F X201 & 487,500 487,500
01 QI X2 AL E A (KEMITHR) 487,500 487,500
O T HARA HE AL
487,500,000 487,500
LASL M (LA XATLAILAM ES3IA) 569,593 506,159 63,434
SASSHAIE 209,093 207,519 1,574
201 et 3| 168,593 137,019 31,574
01 At 22|l 85,520 86,510 A990
oggt=ZH] 85,400
OgAtd(s) 5801 Z2ud
75,0002 *80CH 6,000
OYAEHIMAE HSIH7L A MS
50,000% x200% 10,000
O A& A S HSEIIA B M=
30,0002 1005 3,000
OXSLALSLTHHE A MZ
60,0002 1005 6,000
OgAs2ZN 2= UM
5,5002*1,0009+35 16,500
OZEZR=F N 3,000 +200&£ *23] 1,200
OgALs3IIAE HED| 88 +
4,000,000 * 14 4,000
Og At &) THl e A
100,000 %1514 15,100
oAs 223 7¢ 3,600,000& 3,600
OUXIESAOIA BHAIAL 25
20,000,000 20,000
oY= 120
OEZYAEZAID] EXI 2X Xt
120,000 120
02 S3=gHl 83,073 50,509 32,564
osE2= & HA 49,366
OSZLAZAD| &IR=
60,0002« 12& 720
OSZBLAEZAD| StIR=
160,000& * 12 1,920
OTRS R2edEe| S423
350,000& * 122 4,200
Ostaz|2AIAHE S22
200,000 122 2,400
OZAISZLIEETY, AW Qe HIS
55,0002 128 660
OZUIAME IIE0ISEAE SHR
= 45,0003 122 540
O EUSHE =3 2l AU HIE
22,0002 =40 =122 1,056
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OgArdtl e AUEE2LEL SS2HHIAl
AHE OH SAZ
3,035,000& ~12& 36,420
OXFS A 600,000 *1CH 600
ONSiEE = 850,000 *1CH 850
Oxtgrdet] 12,587
ORF(R) 1,83221%20 £ »1CH=2482 9,087
OXte==clt| 3,500,000 3,500
OAIZ2 &= X 21,120
OSFLAZAID] FA2tel
60,0002 x11CH*12& 21,120
203 HR=&H] 500 500
03 A=A R =NH] 500 500
OgAsZN 2 R
500,000 500
301 EtE NS 40,000 20,000 20,000
14 0Bt 243 40,000 20,000 20,000
OYAsS N ctMOIelXl XIS
40,000,000 40,000
ASLH W= 105,000 36,740 68,260
201 =3 105,000 33,240 71,760
01 At22telt] 80,000 8,240 71,760
Ogt=3H| 80,000
Ousktz M 5,0002%2,000% 10,000
Ous g4 MH 20,000,000 20,000
OZa0l 2= HHOHE WsEdH 2=
HI= 50,000,000 50,000
03 A= &I 25,000 25,000 0
ou=s g &4 25,000,000 25,000
FASLM *AE 20,000 20,000 0
201 Ler=23 | 20,000 20,000
03 A= SHI 20,000 20,000
Od =22 & #HALZ Y
20,000,000 20,000
FAISEN Ed 41,900 41,900 0
201 et 3| 31,900 31,900
01 At22t2l] 31,900 31,900
oggt=ZH] 6,900
O2dAHEAN M 10,0002 %1005 1,000
OZE= M 60,0002 x10JH*35 1,800
Oodes S+ 250,00021*10H 2,500
Ozd WA S4d| 8,000 200 1,600
oYxz 25,000
OHIZ &Xtdl 10,000,000& 10,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZF8l=5Xtes |
300, 0003 *50CH 15,000
202 04dl 2,000 2,000
01 2L AL 2,000 2,000
OEXS 2liEd &2 bl
200,000 x5 =23 2,000
301 22N = 8,000 8,000
11 dALEEIXIE S 8,000 8,000
O=d HOA 2|24
8,0002+1,000& 8,000
A0E SAISEMAIAY 75 193,600 200,000 26,400
201 et23| 93,600 0 93,600
02 S3=gl 93,600 0 93,600
OANE LASLHAIAH A= SN2+
1,600,0002 122 19,200
OgAIsIHE HE 2B AAE |2+
4,200,000 ~12& 50,400
ogMEs 1 RAES
2,000,000& ~12& 24,000
401 Al HIY S CHYI 50,000 50,000
01 AlZH| 50,000 50,000
OXADEDNSEZ(I12243 HX)
25,000, 0002 =2CH 50,000
403 AXIEHHSAH=201H 50,000 50,000
02 S 2SS0t et =& 2 €A | 50,000 50,000
OANIESHAY A= 50,000,000 50,000
OiHIBI (RS XAXAAILA EE3) 9,177,676 7,672,321 1,505,355
(Gla1a]] 9,177,676 7,672,321 1,505,355
801 OfieIH 9,177,676 7,672,321 1,505,355
1 Z8Holiggl 100,000 55,321 44,679
©G{u:] 100,000,000 100,000
B UR==E=s 9,077,676 7,617,000 1,460,676
OUR==E=s 9,077,676,000& 9,077,676




